BRISTOL BROADCASTING COMPANY, INC PO BOX 1389

BRISTOL, VA 24203

Client: I

Date Entered:

ISSUE ADVERTISING

Order #: 9
Description: 9

**976-00256** SENATE MAJORITY PAC #7542

10/12/2018

P.O.#:

Salesperson: National, .

Invoice Frequency: Billed at end of Media Month, Sorted by Date

KATZ MEDIA GROUP 125 W 55TH STREET NEW YORK, NY 10019

## On-Air Schedule

	Start Date	End Date	Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	Total	M	<u>Tu</u>	W	<u>Th</u>	E	Sa	<u>Su</u>
1	10/30/2018	11/5/2018	WAEZ-FM	06:00:00a to 10:00:00a	Weekly	1:00	5	50.00	250.00	Х	Х	Х	Х	Х		
2	10/30/2018	11/5/2018	WAEZ-FM	10:00:00a to 03:00:00p	Weekly	1:00	5	50.00	250,00	Х	Х	Х	Х	Х		
3	10/30/2018	11/5/2018	WAEZ-FM	03:00:00p to 07:00:00p	Weekly	1:00	5	55.00	275.00	Х	Χ	Х	Χ	Х		
4	10/30/2018	11/5/2018	WAEZ-FM	07:00:00p to 12:00:00a	Weekly	1:00	5	25.00	125.00	Χ	Χ	Х	Х	Х		
5	11/3/2018	11/3/2018	WAEZ-FM	10:00:00a to 03:00:00p	Weekly	1:00	1	50.00	50,00	0	0	0	0	0	1	0
6	11/3/2018	11/3/2018	WAEZ-FM	03:00:00p to 07:00:00p	Weekly	1:00	1	35.00	35.00	0	0	0	0	0	1	D
7	11/4/2018	11/4/2018	WAEZ-FM	10:00:00a to 03:00:00p	Weekly	1:00	1	30,00	30.00	0	0	0	0	0	0	1
8	11/4/2018	11/4/2018	WAEZ-FM	03:00:00p to 07:00:00p	Weekly	1:00	1	30.00	30.00	0	0	0	0	0	0	1

Order Start Date: 10/30/2018 Order End Date: 11/5/2018 Spots: 24 Total Charges: Combined Discounts:

\$1,045.00

momed bloodants.

\$156.75

Total Net:

\$888.25

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

	Spot Count	Gross Billing	Combined Disc.	<u>Net Billin</u>
November 2018	24	\$1,045.00	\$156.75	\$888.25
November 2018 Total:	24 <b>24</b>		\$156.75 <b>\$156.75</b>	_

Confirmed & Accepted for BRISTOL BROADCASTING COMPANY, INC

BRISTOL BROADCASTING COMPANY, INC. PO BOX 1389

BRISTOL, VA 24203

Client:

**ISSUE ADVERTISING** 

Order #:

976-00253

Description: Date Entered: SENATE MAJORITY PAC #7541 10/12/2018

P.O.#:

Salesperson:

National, .

Invoice Frequency: Billed at end of Media Month, Sorted by Date

KATZ MEDIA GROUP 125 W 55TH STREET NEW YORK, NY 10019

## On-Air Schedule

	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	<u>Length</u>	Qty	Rate	<u>Total</u>	<u>M</u>	<u>Tu</u>	W	Th	F	Sa	<u>Su</u>
1	10/23/2018	10/29/2018	WAEZ-FM	06:00:00a	to 10:00:00a	Weekly	1:00	5	50.00	250.00	Х	Х	Х	Х	Х		
2	10/23/2018	10/29/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	5	50.00	250,00	Χ	Х	Х	Х	Х		
3	10/23/2018	10/29/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	5	55.00	275.00	Х	Х	Х	Х	Х		
4	10/23/2018	10/29/2018	WAEZ-FM	07:00:00p	to 12:00:00a	Weekly	1:00	5	25.00	125.00	Χ	Х	х	Х	X		
5	10/27/2018	10/27/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	1	50.00	50.00	0	0	0	0	0	1	0
6	10/27/2018	10/27/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	1	35.00	35.00	0	0	0	0	0	1	0
7	10/28/2018	10/28/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	1	30.00	30,00	0	0	0	0	0	0	1
8	10/28/2018	10/28/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	1	30.00	30.00	0	0	0	0	0	0	1

**Total Charges:** 

\$1,045.00

**Combined Discounts:** 

\$156.75

**Total Net:** 

\$888.25

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

Projected Media Me	onth Billing Totals for ISS	UE ADVERTISING	/ 976-00253 :	
	Spot Count	Gross Billing	Combined Disc.	<u>Net Billing</u>
October 2018	20	\$865.00	\$129.75	\$735.25
November 2018	4	\$180.00	\$27.00	\$153.00

Confirmed & Accepted for BRISTOL BROADCASTING COMPANY, INC

BRISTOL BROADCASTING COMPANY, INC PO BOX 1389

BRISTOL, VA 24203

Client:

ISSUE ADVERTISING

Order #: Description: 976-00250

SENATE MAJORITY PAC #7540

Date Entered: 10/12/2018

P.O.#:

Salesperson:

National, .

Invoice Frequency: Billed at end of Media Month, Sorted by Date

KATZ MEDIA GROUP 125 W 55TH STREET NEW YORK, NY 10019

## On-Air Schedule

	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	<u>Length</u>	Qty	Rate	<u>Total</u>	<u>M</u>	<u>Tu</u>	W	Th_	F	Sa	<u>Su</u>
1	10/16/2018	10/22/2018	WAEZ-FM	06:00:00a	to 10:00:00a	Weekly	1:00	5	50.00	250.00	Χ	Х	Х	Х	Х		
2	10/16/2018	10/22/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	5	50,00	250,00	Х	Х	Х	Х	Х		
3	10/16/2018	10/22/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	5	55.00	275.00	Χ	Х	Х	Х	Х		
4	10/16/2018	10/22/2018	WAEZ-FM	07:00:00p	to 12:00:00a	Weekly	1:00	5	25,00	125.00	Χ	Х	Х	Х	Х		
5	10/20/2018	10/20/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	1	50.00	50.00	0	0	0	0	0	1	0
6	10/20/2018	10/20/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	1	35.00	35.00	0	0	0	0	0	1	0
7	10/21/2018	10/21/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	1	30,00	30.00	0	0	0	0	0	0	1
8	10/21/2018	10/21/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	1	30.00	30.00	0	0	0	0	0	0	1

Total Charges:

\$1,045.00

Combined Discounts:

\$156.75

Total Net:

\$888.25

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

	Projected Media Mo	onth Billing Totals for ISS	JE ADVERTISING	/ 976-00250 :	
		Spot Count	Gross Billing	Combined Disc.	Net Billing
October	2018	24	\$1,045.00	\$156.75	\$888.25

Confirmed & Accepted for BRISTOL BROADCASTING COMPANY, INC

BRISTOL BROADCASTING COMPANY, INC PO BOX 1389
BRISTOL, VA 24203

Client:

ISSUE ADVERTISING

Order #:

976-00247

10/11/2018

Description: Date Entered: SENATE MAJORITY PAC #7539

Date En

P.O.#: Salesperson:

National, .

Invoice Frequency: Billed at end of Media Month, Sorted by Date

KATZ MEDIA GROUP 125 W 55TH STREET NEW YORK, NY 10019

## On-Air Schedule

<u> </u>	Start Date	End Date	Station	Scheduled	Time/Event	Repeated	Length	Qty	Rate	<u>Total</u>	M	<u>Tu</u>	W	<u>Th</u>	F	<u>Sa</u>	Su
1	10/15/2018	10/16/2018	WAEZ-FM	06:00:00a	to 10:00:00a	Weekly	1:00	5	50.00	250.00	3	2	0	0	0	0	0
2	10/15/2018	10/16/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	5	50.00	250.00	2	3	0	0	0	0	0
3	10/15/2018	10/16/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	5	55.00	275.00	3	2	0	0	0	0	0
4	10/15/2018	10/16/2018	WAEZ-FM	07:00:00p	to 12:00:00a	Weekly	1:00	5	25.00	125.00	2	3	0	0	0	0	0
5	10/13/2018	10/13/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	1	50.00	50.00	0	0	0	0	0	1	0
6	10/13/2018	10/13/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	1	35.00	35,00	0	0	0	0	0	1	0
7	10/14/2018	10/14/2018	WAEZ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	1	30.00	30.00	0	0	0	0	0	0	1
8	10/14/2018	10/14/2018	WAEZ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	1	30,00	30.00	0	0	0	0	0	0	1

Total Charges:

\$1,045.00

Combined Discounts:

\$156.75

Total Net:

\$888.25

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

	Projected Media M	onth Billing Totals for ISS	UE ADVERTISING	/ 976-00247 :	
		Spot Count	Gross Billing	Combined Disc.	<u>Net Billing</u>
October	2018	24	\$1,045.00	\$156.75	\$888.25

Confirmed & Accepted for BRISTOL BROADCASTING COMPANY, INC